548 / External View

¥JIL—27% L / Without roof unit

665
630

BMAZ / Components

[ x®&2 : TY-34)2008.02.08

No. %# / Part name HE / Pcs ME / Material ® . xEME / Color- Finish
1 by TH /= / Top cover 1 ABSKEiRE / ABS AJ{NT b= / White gray
2 |[K7+— / Base 1 ABSEiflE / ABS ADANT V- / White gray
3 W=7 / Roof 1 | / PVC A4NT U=/ White gray
L A7y b / Gasket 1 AY7b3y / Polyurethane 73v7 / Black
5 v # / Latch 3 A77bA / Stainless steel #YL38 / Unfinished
6 (JMEREFTAE A (M6 x 10) 6 ok = ffi9ox-h

Screw(M6 - 10) Steel Trivalent chromate
T |MREfTE 6 ATIVA HYLIE

Mounting bracket Stainless steel Unfinished
8 |Eft~—2Z2AEA(ME x 10) 8 K = @70k

Screw(M6 - 10) Steel Trivalent chromate

188 2

8-MO64 U= Fyh
8-M6 Insert nut

593.8

T2 F—% / Technical Data

REZMHK/ / Protection class IP65
FERAEEEEE / Operafing temperature | -10C ~ +60C
WEEME 7 5 A/ Flammability class UL94LHB

I -

O =

O O (]

36.5
o L5
LN ‘lf 1l
N} I = =
y i [ i = |
L } jili i ftf - &% /Title
& NN || DN || NN | e AR S F BT R BK B I — 7 ft ABST 553 O ]
- - TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IPGS ABS PLASTIC BOX With OUTDOOR ROOF
6-M64 V- ~yh 793.8 | &R /Approved | B /Checked | #B/Created 2% /Product number RE/Scale18
6-M6 Insert nut BCAR608018G ‘
3 PR /2
fEM B /Date 2018/10/22




[ x®&= : TY-34)2008.02.08

R%R / Internal View

KABIZITIL—TEFFFTWERA,
Drawing does not include roof unit

RT 1 —(H18) H 13— (RR)
Base (Internal View) Cover (Internal View)
830
- — — |
8
A \ \ m
L& &
~ N
E
O
o >
= mM © ® & o
N} >
~
#
Y 8 J/ . . 7 -'T
] g =
N ' ~ ' ) ' 4@:
2 RO, O] © ® . 5
— 7 o (an
- 8-Mo4 U= MFyh 6-M64UH-Nyh
LN 8-M6 Insert nut 6-M6 Insert nut
No)
E
—D — —
= o
g — ~—
>
\_ I!‘“ TN, I!‘“ 1)1
jﬂ ——— L —_—
1= @& /Title N —
o . N ==
£ | ATT% /Max dim. 777 | BRASHIDFERIX B5 A BHEE L — 7 £ ABST 54 v92 O L
‘Im: TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF RE/S l
KR /Approved | IRE /Checked | #E/Created |F% /Product number € e18
. BCAR608018G ‘
s PR 2/
fER B /Date 2018/10/22




	BCAR608018 Model (1)
	BCAR608018 Model (2)

